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Comprehension O O [0 I Part A You will hear 3 short dialogues.
For each dialogue, there is one question and four possible answers.
Choose the correct answer -- A, B, C or D, and mark it in your test
booklet. You will have 15 seconds to answer the question and you
will hear each dialogue ONLY ONCE.1. Where does the
conversation probably take place? [ A ] At the post office. [ B ] At
the restaurant. [ C ] At a beauty shop. [ D ] At the coffee shop. 2.
What does the woman mean? [ A ] The old man always troubles the
others. [ B ] The old man likes to make a joke on others. [ C] The
old man is good at preventing you from doing anything. [ D ]
Something is wrong with your legs. 3. What do we know about Jim
from the words of the woman? [ A ] Jim wants to change his job. [ B
] Jim often makes his room clean. [ C ] Jim has pressure from his
new job in mind. [ D ] Jim is determined to buy a new room. Part B
You will hear a dialogue and a monologue. Before listening to each
one, you will have 5 seconds to read each of the questions which
accompany it. While listening, answer each question by choosing A,
B, C or D. After listening, you will have 10 seconds to check your
answer to each question. You will hear each piece ONLY ONCE.
Questions 4 -7 are based on a talk about a CEO. 4. Who is the CEO
of the company now? [ A]Mr. Black. [ B] Mr. Smith. [C]It" s
not appointed. [ D ] Mrs. Johnson. 5. What are the impressive



credentials of Mr. Black? [ A ] He has got an MBA degree from Yale
University. [ B ] He has ever been a vice president of a multinational
Company. [ C ] He has rich experience with major international
companies. [ D ] Both A and C. 6. What does the new CEO care for?
[ A ] How much he can earn each year. [ B ] How much
contribution he has made to the society and his employees. [ C ]
How hard his employees should work. [ D ] How to expand the
company. 7. How much is Mr. Black’ s annual salary? [ A ] $1 000
000. [ B] $2 000 000. [ C]$3 000 000. [ D ]$2 00 000. Questions 8
-10 are based on the following monologue. 8. It is easy for the visitors
to travel by tube in London because of [ A ] colors [ B] maps [ C ]
color-coded maps [ D ] coldness 9. It' s good to have spare
changes at hand because [ A ] the large stations don’ t have changes
[ B ] the queues at the large stations are too long for you to get a
ticket [ C ] the ticket costs a little [ D ] you can buy tickets from a
machine 10. You should keep the ticket because [ A ] you like to
collect tickets [ B ] it is checked at the destination [ C ] the automatic
barriers like the tickets [ D ] your family want the ticket O OJ U [0 [J
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